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Answers

1. 0.0415

2. 833,368

3. 0.016

4. 934,340

5. 9.56

6. 1,170

7. 0.0865

8. 73.43

9. 0.054149

10. 94,120

11. 0.0064426

12. 942.9

13. 0.4642

14. 374.4

15. 0.004974

16. 635.3

17. 0.056466

18. 1,913.9

19. 0.889

20. 43,200

Solve each problem.

5.47 × 104

This is the same as saying:
5.47 × (10 × 10 × 10 × 10)

And because the base is 10 you can just move
the decimal 4 places to the right to solve.

5.47 × 104 = 54,700

5 4 7 0 0 .

2.36 ÷ 102

Division is the same way. Only instead of
moving the decimal right, you move it left.

You can also multiply a negative exponent,
which means the same thing.

2.36 × 10-2 = 2.36 ÷ 102

. 0 2 3 6

1) 41.5 ÷ 10 3 2) 833.368 × 10 3

3) 1.6 ÷ 10 2 4) 93.434 × 10 4

5) 95.6 ÷ 10 1 6) 1.17 × 10 3

7) 8.65 ÷ 10 2 8) 7.343 × 10 1

9) 541.49 ÷ 10 4 10) 94.12 × 10 3

11) 64.426 ÷ 10 4 12) 94.29 × 10 1

13) 4.642 ÷ 10 1 14) 37.44 × 10 1

15) 49.74 ÷ 10 4 16) 6.353 × 10 2

17) 56.466 ÷ 10 3 18) 19.139 × 10 2

19) 8.89 ÷ 10 1 20) 4.32 × 10 4
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